—t

H

iC 8%

SEEERE

B

S 201557 H 12 H(H)14:30 [RaER | Hbhx2 | 25a FREATFRAR T v I—15
x % [ | EyFikEE ANT%E 2EEZ | RE g8 ] m:m |
EES =8 & HIES E FRER |
Bl & Tk BFE/EH B¥ ] e BE
BER B REE | 9 - T % 5
Wi |u‘| H”:': 0 ——3
BRHEX=E 4 — 0 |CERVEZA FCEHIE
KICK OFF | 4 ' 0 i KICK OFF
X K va—h = . | 6 |& . 5 a—bk X K
&5l 5| 90| 75| 60| 45| 30| 15| 5| = £ F A 5 & |& £ F A m|st| 15[ 30| 45[60]75]|90] 4 |ES]
HT 0 a2 B 1 |GKJGK] 12 0
HT 1 1 ml ffE 6 |DFJDF| 6 0
HT 0 WA 5 23 |DF]DF| 18 0
HT 0 $5K =3¢ |26|DF|DF|30 0
HT 0 EBE BT |22|DF]DF| 27 0 74
HT 0 INEAR BKX | 17|MFIMF| 10 0 43
HT 1] 1 53k BN |25|MF|MF| 8 0
HT 1:2]3 HAE %= 13 [MFIMF] 15 1] 1 63
HT 1:2i1]4 Z)Il K| 11 [MFMF[ 20 0
HT 11 @A J\iE  [19]Fw|Fw| 7 0
HT 1 1 A 5E | 20]|Fw|Fw| 37 0
1 0 Fk BT 16 |GK]MF| 13 0 10
6 1 1 INER = 2 |DF]™MF| 3 0 15
23 0 2l R 3 |DF]DF| 19 0 27
26 0 WA #rAER | 4 [DF
22 1 1 WA F— 15|DF
17 1 1] 1 1k RX 8 [MF
25 0 ZH = 5 |MF
13 0 = mESF | 24|MF
11 0 =B BAXER |27|MF
1985 2 11 4|3 O 9 [Fw
20 1 1 ME EKX  |12[FW
9 1 1 alll R& |14[FW
Z & 85 E B E B TZ 85
B | B K % e B =IO N EETEE K 4
£ A R-IES F—LAEH FIE SR £
9 | 11 20 [ Ya—k]| 1 1 0
1 3 4 G K 8 6 2
1 4 5 C K 1 0 1
3 1 4 | EEFK| 9 4 5
0 0 0 | REEFK]| 1 1 0
0 0 0 | & | 1 1 0
0 0 0 P K 0 0 0
KEES

GE1) A7 AR ROEFIE. gD —F o8 D55. T?#4Pl—;é%®’&ibru\éo
ZLEBHR] C1RAR—

YT A. C2:57T L1, C3:EHE.
GRIZBEM] ST ELLFRELT LA, S2EBHITA. Ss:old:ﬂién S4.1¥E'r,ﬁ$%§'%ﬂﬁlt($) . ss.1%.-ﬁ%%ﬂﬂ¢(1&) . 86.{ﬁ§~ cs:

EIZIZE

B F—L BaE T AR BAEEB (~:RUT I, —:F5HURNR, 1 BEB/IR, S:va—k HiATALY)
71 BX 9 O 15 WX H— -1 15 - i A-1 9 {ARES

73 BXRK |24: & RX [12: #E EX -1 12 - i H/-11 24 iHRES

79 BX 9 R i 27 i %A BAR k2% 27 1 idk-1i 9 IA/RES

80 BX 9 B 5 TH TR hR-1i 5 1 9 HS




